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OFM S TAIDIEIAIE =4
JIBANES 22 )
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o e 2
02 =224l 286,111 285,980 131
OEos B2 SUHE AE
35,0003 x10H =128 420
OEos HIIMNER 285,691
B (LHEE . HE)
4,650 128 +5,170&5+0.96 276,947
- ™| = (LED) 2,300 «12& «330&+0.96 8,744
206 M= Hl 75,779 75,779 0
01 M= 4l 75,779 75,779 0
OEos Bz 7Y 75,779
-UHEEdZE
10,450% *4,900S * (3652 *12A1 2F) /16, 000Al 12,616
2t%90%
-UHESHEZ etE D)
(15,400 x4,900S *10%) *90% 6,792
-oEy=
35,2003 2705 * (3652 x12A1 2+) /12,000 Al 2 3,469
CHEIZOAI] (31,9009 #2705 *10%) *90% 776
- LEDS 12
450,000 *330S * (3652 x12A1 2+) /50,000 Al 11,708
2+x90%
- AtE ZE0I 40,100& *5,500& * 15%*90% 29,775
2os JI+ 30,000& *5,5005 *3%*90% 4,455
B8 &4 2,000& *5,500 *5M*5%*90% 2,475
=2 15,000& *5,5005 *5%*90% 3,713
401 AIEHI L 20 204,652 194,682 9,970
01 A& HI 204,652 194,682 9,970
Ozt 2ets el ZAt 131,452
2ets =2 58,423 x2,25001 &~ 131,452
Ozt 2ets MAIA 73,200
Bots A4 732,000& 1005 73,200
zs 2el 1,267,105 1,222,801 44,304
201 2et2 Y| 880,227 870,923 9,304
01 At 221l 1,056 1,056 0
OL2xdY 033X =&l
8,000 x11H « 128 1,056
02 2324l 879,171 869,867 9,304
oJxtzs dilz 825,941
=y
6,290 *410H «5kwx12& 1.037*1.1%0.9 158,855
CMNEE(HE, UHES)
85.9& *(0.44kw*500S5 +0. 28kw*4,793S ) x 12* 602,986

365%1.14%0.9
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AN AASEN
S OFMEE TAIDIBIAIE =4
Chelr JIMAIEE 2el
SN FE - EA(SA) - MRAY - BES 0l &t o il
AtE = (LED)
85.9% 0. 15kwx1, 107S *12A1 2+ 365 * 1. 14 64,100
0.9
OJtzs RHM0 SH= 21,450
KT 2MSd = 115,500& =128 1,386
CCJE Y Sz 20,064
-2z 5,000 *160CH 123 1.1 10,560
-AEE 303 «160CH* 122 15024 1.1 9,504
O3 &xTH KRB 24,780
Hsdot7s IAXTE =2l
1,770,000 = 10 2 1,770
USURLTY WYR FWEY 2
1,770,000 =10 2 1,770
HEIEY S8 J2XY 22
1,770,000 = 104 2 1,770
HEIEHE & s 32X YH =g
1,770,000 =10 2 1,770
OG0z 8% F2XY S
1,770,000 =10 2 1,770
Clz=wgy 1 =98 =2
1,770,000 =10 2 1,770
-Chii1s ofoIatd ) 22X 2l
1,770,000 =10 2 1,770
Stz 2 SN 2
1,770,000 =10 2 1,770
ESERSe 2 ¥ URsW 2% 22
1,770,000 =10 2 1,770
CIOHEZE QIO ME S22 298 2
1,770,000 =10 2 1,770
E20 MgE F2axY 22
1,770,000 =10 2 1,770
IS 2 FBIY 42
1,770,000 =10 2 1,770
COHEERHSLIEIE Z222Y =2
1,770,000 =10 2 1,770
BYIHOH oY FBE
1,770,000 =10 2 1,770
OUUEHHB A MIZHAE RRE+ 7,000
S8sS B+ 400, 0003 1274 2= 4,800
S HEHED W 200,000 » 110 & 2,200
206 M= Hl 136,778 136,778
01 MHZ 4l 136,778 136,778
oitzs E=XH 136,778
-UHEEYZ
11,1002 %4 ,8495 * (12A1 2+ *3652 ) /16,000 Al 13,261
2E%90%
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CHE¥E(DESE)
64,0002 #4485 * (1241 2F*3652! ) /12,000 Al 2¢ 9,419
*90%
- LEDS J| 7 (SMPSE &)
800, 000& x1,1075 *(12A1 2+ *3652 ) /50,000 69,821
Al 2+%90%
LIEEEZ etE )|
19,830& *4,8495 *10%*90% 8,655
CHEZHZ HHII(DEE)
47,0003 448 x10%*90% 1,896
tz2s I+
71,500 *(4,849+448) S *3%*90% 10,226
- E3ED 407,000 *4102H x10%*90% 15,019
-Es8 dd 5503 *183, 000m*5%*90% 4,530
- OFEDl HH 11,000& x5, 8002 *5%*90% 2,871
CARE 40,000, 000& *3%*90% 1,080
401 AIEHI L 201 250,100 215,100 35,000
01 A& HI 250,100 215,100 35,000
Otz2s =d8722 M= 170,100
2 22 2 A 1,200,000 »113& 2+ 135,600
CEAIED ZX 40,000& 6004 24,000
-2 ) 2 MAX 105,000 * 1004 & 10,500
OL= FRP Jt2S WAl 50,000,000& 50,000
OLSh&Ee DH L 24
3,000,000 *100H & 30,000
FEA M &H 2el 339,803 314,370 25,433
201 Let24d] 339,803 314,370 25,433
02 =24l 339,803 314,370 25,433
OREAN 2323 280,193
CREA HIZ 220,064
-JEz 8,320 *600Kwx 123 x1. 1 65,895
-AEE 109& 107, 151Kwh* 128 1. 1 154,169
S M2g2 - QAR MIIZ 34,126
-2z 6,160 *164Kwx 128 x1. 1 13,336
-AIEE 105& %15,000Kwh* 122 1. 1 20,790
-ESXNZEY M= 12,428
A== 6, 1603 «25Kwx 128 x 1.1 2,033
-ANEE 1053 *7,500Kw* 128 * 1. 1 10,395
CREAMN Y o3 s MIetEEeUE 2
1,030,000& »12& 12,360
- REAMN EIIEH BIIEM =2
1,215,000& »&H 13| 1,215
OZREAL HII&EHl |FXE+ 57,000
- KHXH = O HI 750,000& *H 43| 3,000
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oM EE T AIDIBEAIE =4
JIdANEZE 2el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
- sl 18,000,000& & 33| 54,000
OF&EA H&ZHI KX 2,610
Higa & sz =5 S8X WA
270,0003 *4JH x2J4 2~ 2,160
AZH(ER)
1,2483 602 &1 *0.5A 2tx 128 450
H=B & 2el 550,986 492,775 58,211
=82 22 550,986 492,775 58,211
101 @124l 23,590 26,189 A 2,599
04 JI12ZtHZ22HEE = 23,590 26,189 A 2,599
Octtttf=8HoZ 2ER3 23,590,000& 23,590
201 ¢4l 521,396 461,636 59,760
01 At 2t 2l 2,980 3,262 A 282
OW+BIH2LR o H2SS4 0/
160,000& »15H 2,400
Oti=8odgd2a JFANE 30,000 x6& 180
O+BEZYHA A0E 100, 0008! 43| 400
02 =224l 518,416 458,374 60,042
OXFE1- -2, otti+=EEZHE WE, g3 &
& Attl 3,534
dOlerE el Al 83l 100,000 »2H 200
dojerd e @ g3l 70,0003 3 210
egsotd2e it &3l 36,0003 x2H 72
otdztel HE ¥ MN2W=E 400,000 «5H 2,000
BABOE XMy A2
1,050& *910kw*1.1 1,052
Oti=8Sd AM&FH |X 144,227
NEIBEZY =B (18U1)
13,000, 0002 = 18CH 7% 16,380
JEIEDIY DY2E L AX(180)
8,000,000& = 18CH x7% 10,080
FYIEZZ :MAI(1200)
10,000, 000& *12CH 7% 8,400
ZHel2® T A =~ & I (320HP, 50H)
13,000, 000& *5CH x20% 13,000
NE2BEETXY NADH L AX(50H)
,000, 000& *5CH *20% 6,000
2B HlAZAI(1,069%w,20H)
7,373&*1,069%kw 7,882
SHEHE & B =& = (355HP,50H)
13,000, 000& *5CH x20% 13,000
SHHHE X N2 H L AA(5MH)
6,000,000& »5CH x20% 6,000
StEHE X Hl A2 &I (1,569w, 1CH)
7,373&*1,569kw 11,569
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X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
CHEIEDY AN EIZ(600HP) ==
1,729& x2,0004 3,458
HEPEIDH HINEEI 85
1,729& x2,0004 3,458
HAHDZY g¥eH 89
300,000& x50 m* 15,000
BBIx ASANLEE S 224
20,000,000& =14 20,000
CHIEQEMZAE ANEZEH RAE=>
10,000, 000& 14! 10,000
Oti+=8Zz 23223 370,655
SEEIEEEY M= 190,405
-HERoE S0 97,735
2z 8,320 *1,900kW x5 =1, 1 86,944
AEZ 1093 18,000kWh*5& x 1. 1 10,791
-dARotE S0 92,670
ez 8,320 *390kWx 128 x 1.1 42,832
MNES 109% *34,638KWh*12& 1.1 49,838
Fg28€Sy MII= 29,640
-HERSE S0 19,444
2z 8,320 x400kWx52 %1 . 1 18,304
AEZ 1093 *1,900kKWh*5& x1. 1 1,140
- 4ARotE MY 10,196
2z 5,550 x68KW* 128 *1 . 1 4,982
AESE 793 +5,000kWh*12& *1.1 5,214
SHHEZH MII= 38,432
-HERoE S0 18,387
gz 8,320 *390kW x5 %1 . 1 17,847
AEZ 1093 x900KWh*5& * 1. 1 540
- 4ARotE MY 15,410
ez 5,550 x68KW* 128 «1 .1 4,982
INE=2=3 79&+10,000kWh*12& *1.1 10,428
-NotEE &MIlE 4,635
2z 5,550 3 «6KW 123 1. 1%2J4 & 880
AEZ 79& *1,800kWh* 128 1. 1%x2J4 & 3,755
oteeE o MIIR3 108,625
-2z
(8,320 *320kw*7 & +8,320+3, 000kW*60%+5 102,869
211
-ANEE 109% *4,000kwx12& *1.1 5,756
Ottt HEEHIZ MIIeZF 421
-2 6, 1602 *5kw* 120 2« 1.1 407
-AIEE 1053 «10kw* 120 & *1.1 14




AN S

Mz OtAMEE S AID|IBHAIE =4
Sl HAEDT 2 (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Bi=BOZX & -dtxEs
33,0002 301 A 128 1,188
BeETE sM2
40,0003 3 A x12& *1 .1 1,584
BHEBEIE 2RSS
60,000& *3H A *23] 360
206 M = dl 6,000 4,950 1,050
01 & bl 6,000 4,950 1,050
Othx=EHZ& 2HE S 6,000,000 6,000
OrM & T Al 22| 468,241 434,223 34,018
CCTV SEZHMAEH 2 468,241 434,223 34,018
CCTV SE§2HAEH 29 468,241 434,223 34,018
101 2124 4| 268,773 260, 129 8,644
04 JIZtHI22 NS E S 268,773 260, 129 8,644
OZHNHEH SLIHRHA o 268,773
-SLHE JI=23 71,8403 9™ 250 161,640
-ZLIEHE OF2b=2 4,175 x0H x768Al 2t 28,858
- DL 2HAH] 3,000& x9H x250 6,750
S E=EXE 71,840& 9 »52 33,622
- DNE-S=, 71,8403 x9H x 12 7,759
SXEOE 300,000& «9H 2,700
HE A2 300,000& *9H 2,700
Zo0AZEEEs=2 238,629,000& *4 . 5% 10,739
- ZUHAAEEHEHZ 238,629,000 *3.23% 7,708
-NEEEEe"=2 238,629,000& *1.5% 3,580
ATHEEEEZS 238,629,000 *0.9% 2,148
LoD RYREHZ 7,708,000& *7.38% 569
201 L2 | 198,568 108, 194 90,374
01 AtSR 22l ] 38,056 3,960 34,096
O2HEE #*¢ 200,000& x12& 2,400
OnsnM ¢ =22 M 2,000,000& 2,000
OHEAHEN =246 (S/W)
(M2 242+%918,0002 )+(PCE 222 56,000 23,264
)
OHtol 2 A BHAL(S/W) MNHE 242 433,000 10,392
02 332494l 160,512 104,234 56,278
OCCTV & &2 =2 88,000& *113| & x12& 11,616
Of2lgH4Y g2 400,000& x12& 4,800
OCCTV &= 5,100 x 188 A~ x12& 11,506
odgg gt A X122l ]
17,000, 000& *7%=*1. 1 1,309




AN S

HH: OFE T AR
il

& CCTV SEZMAH 2 (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
OogdE CCTV A2l
610,000,000& *7%*1. 1 46,970
OSEg2HHH SA&2dl 84,311
- SEZHAIAE(H/W) S X2 el
693,988,780 *7%*1. 1 53,438
CSEZHAIAE(S/W) R X2l
233,886,000 *12%*1. 1 30,873
203 YR =2l 900 900 0
03 AIBFAH S =AY 900 900 0
OSg2HdE 2= 900,000 900
HE2IZH (e SZ ) 29,552 29,852 A 300
JlE&dl 29,552 29,852 A 300
JlE2&l 29,552 29,852 A 300
201 -4 22,112 22,112 0
01 At 22l 22,112 22,112 0
ORNE2E+=EHl 11,916,000& 11,916
OJlege=d Sl 9,556,000& 9,556
Ofs4d 2¢ 640,000& 640
203 YR =] 7,440 7,740 A 300
01 J22E 2= 2,400 2,700 A 300
OJI228 S =2l 3,000,000 x80% 2,400
04 FN2ELSZ=TH| 5,040 5,040 0
ORAN2EYE=4HI 5,040,000 5,040
Heas(tds2) 526,926 497,481 29,445
HEAHHK = 526,926 497,481 29,445
=l E=ar=1 526,926 497,481 29,445
702 JISEES 526,926 497,481 29,445
(RPIE=RSE-—3= 526,926 497,481 29,445
OM:t2eldlz 526,926,000 526,926




